- 3 XIES : Z i cent q c ° 4.
meszeng (TEH] 8/13~15-12/20~1/3EBRYT 1 PTETUET.  Lhin (2000m. 000HL. 16000RT) DTEATEE Ay 2ozaad
SEE

7 7
P P
T N T
% i %
% %
=] =]
2 2
i i
5 5
6 6
7 7
840 8
9 9
10] 44 10
11 11
12 12
13[4 13
14 14
15 15
16 16
17( 44 17
18 18
19 19
20 20
21 21
22 22
23 23
B g




S\ 4 XIZiE] 2 Z 3 C N ¢ Z o 4.

miEe/zignx [TBR) 8/13~15-12/29~1/3B3BHRI 1 PTEITUET. Sonns oo o oot 000k poE g, 202441
g

7 7

P P

— B _
17 E 17

=:]
5% BR 5%
Bl

= 2

=2] 22|
4 =

i i
5 5
6 6
7 7
846 8
9 9
10|04 10
11|, 11
12 12
13 13
14 14
15|54 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
peee L




